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Oot=EAES =2
TEHA 220¥ X 106,400m" X 12& = 280,896
2EH | 330& X 33,200m X 123 = 131,472
3EHH| 380& X 208,130m X 12& = 949,072
611-06
oINS 832,048 832,048 0

TEHA 240% X 38,880m X 123 = 111,974
2EH | 330& X 18,340m X 123 = 72,626
3EHH| 4108 X 22,100m X 123 = 108,732
At 510& X 22,200m" X 123 = 135,864

S5 590& X 56,900m" X 123 = 402,852
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2CH 3702 X 1,100m X 128 4,884
3 4302 X 2,650m X 128 13,674
4| 6702 X 21,700m X 128 174,468
611-10
solgimole 314,832 314,832 0
Ost+EARE 2o
1207 2802 X 93,700m X 128 = 314,832
300 300 0
300 300 0
OHAI=ZE St AIEZ =9 100,000& X 33l = 300
67
o] 8,457,147 8,512,664 A55,517
142,000 142,000 0
142,000 142,000 0
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OF= =1 =Pl
203 1,000,000,000& X 0.2% = 2,000
ooz 7,000,000,000& X 2% = 140,000
Ela ALY S = 8,306,039 8,360,890 154,851
672-01
UL H MU Z 6,400,000 5,980,000 420,000
O et AN 3
St=ZHEH 2UE UMY 292 NISE
09 Ab 1,100,000,000& X 14! = 1,100,000
104 At 800,000,000& X 14! = 800,000
St=HMeld 29| 5,000,000,000& x 90/100 = 4,500,000
672-02
ElEgs HEUZ 1,906,039 2,380,890 2474,851
O =ZNESEIANEYS
2009 HFAl St Y| BTLYUZ (=HDI2) 483,000,000 = 483,000
20108 ¥ Al Sh==Z4EFH| BTLY U Z (=HDI2) 307,000,000 = 307,000
StedMeld 22 (=HDI13) 1,116,039,000& = 1,116,039
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